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Time: 2 ¥2 Hours. Total Marks: 75

Note:
1. All Questions are compulsory.
2. Each question carries 15 marks.
3. Draw neat diagram wherever necessary.

Q.No. 1) Attémpt any two from the following. (15)
A) Bring out the scope of microeconomics.
B) Discuss the wealth and scarcity.
C) Examine the term Ceteris Paribus.
Q.No.2) Attempt any two from the following. (15)
A) What are the determinants of demand?
B) Calculate price elasticity of demand if the price of X
commodity falls from Rs. 50 to Rs.40 per kg. and quantity
demanded increases from 150 units to 200 units.
C) Discuss the consumer’s equilibrium.
Q.No.3) Attempt any two from the following. (15)
A) Describe term long run production function.
B) What are the properties of Iso-quants?
C) Bring out the term economies of scale.
Q.No. 4) Attempt any two from the following. (15)

A) Examine the term managerial economics.

B) Explain the various types of elasticity of demand.
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C) Calculate Total Cost (TC), Average Fixed Cost (AFC) and Average
Variable Cost (AVC) from following schedule.

Output 1y TVC TC AFC AVC
0 360 —

1 360 180

2 360 240

3 360 270

Q.No.5) Attempt any two from the following.

A) What are the types of equilibrium?

B) Bring out the term indifference curve.

C) Explain the term opportunity cost.

***********************
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